## Math 155, Lecture Notes-Bonds

Name

## Section 9.2 Series and Convergence

Usually, we study infinite sequences in order to study "infinite summations." That is we want to consider what happens when we add tighter an infinite number of terms from a sequence. In this section we will begin our study of **infinite series**.



To find the sum of an infinite series, we will consider the corresponding sequence of partial sums listed below:

$$S_{1} = a_{1}$$

$$S_{2} = a_{1} + a_{2}$$

$$S_{3} = a_{1} + a_{2} + a_{3}$$

$$S_{4} = a_{1} + a_{2} + a_{3} + a_{4}$$

$$S_{5} = a_{1} + a_{2} + a_{3} + a_{4} + a_{5}$$

$$\vdots$$

$$S_{n} = a_{1} + a_{2} + a_{3} + \dots + a_{n-1} + a_{n}$$

Definitions of Convergent and Divergent Series

For the infinite series  $\sum_{n=1}^{\infty} a_n$ , the *n*th partial sum is given by

$$S_n = a_1 + a_2 + \cdots + a_n.$$

If the sequence of partial sums  $\{S_n\}$  converges to *S*, then the series  $\sum_{n=1}^{\infty} a_n$  converges. The limit *S* is called the sum of the series.

 $S = a_1 + a_2 + \cdots + a_n + \cdots$ 

If  $\{S_n\}$  diverges, then the series **diverges**.

more **Ex. 1**:

$$S_{1} = \frac{1}{2}$$

$$S_{2} = \frac{1}{2} + \frac{1}{4} = \frac{3}{4}$$

$$S_{3} = \frac{1}{2} + \frac{1}{4} + \frac{1}{8} = \frac{7}{8}$$

$$\vdots$$

$$S_{n} = \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \dots + \frac{1}{2^{n}} = \frac{2^{n} - 1}{2^{n}}$$

$$= \lim_{n \to \infty} \left( \frac{2^{n}}{2^{n}} - \frac{1}{2^{n}} \right)$$

$$= \lim_{n \to \infty} \left( 1 - \frac{1}{2^{n}} \right)$$

$$= 1$$

Since the sequence of partial sums converges to 1,  $\{S_n\} \rightarrow 1$ , we say that  $S = \sum_{n=1}^{\infty} \frac{1}{2^n} = 1$ .

Geometric Sequences and Series Geometric Sequences and Series -- t sequence \$ 6, b2, b3, ----. 3 is called a geometric sequence it for every NEN, where r is a constant. but = bu This constant r is called the ratio of the geometric seguence.

Ex. 2:

Example: 3, 6, 12, 24, 48, -----  

$$\frac{6}{3} = 2$$
,  $\frac{12}{6} = 2$ ,  $\frac{24}{12} = 2$ ,  $\frac{48}{12} = 2$   
So,  $\Gamma = 2$ 

Theorem; If Ebul nerN & is a geometric Sequence, then  $b_n = b_i \cdot r^{n-1}$ , where r is the ratio of the sequence.

Ex. 3:

Consider, Ear"= a + ar + ar2 + ... + ar"+ ... ato Éar is a geometric series with ratio.r

Fact:  $\Sigma \Gamma' = \frac{1-\Gamma'}{1-\Gamma}$ ,  $\Gamma \neq 1$  $let S_{n} = \sum_{i=0}^{n-1} r^{i} = [+r + r^{2} + \dots + r^{n-2} r^{n-1}]$ 1=1-2 (=1-1 Proofs n terms  $\Gamma \cdot S_{N} = \Gamma \left( 1 + r + r^{2} + \dots + r^{n-2} + r^{n-1} \right)$  $= r + r^2 + r^3 + \dots + r^{n-1} + r^n$ 

$$\begin{array}{rcl} (on n'cln & S_n - r'S_n = S_n (1 - r) \\ (1 + r' + r'' + r'' - 1) - (r' + r'' + r''' + r''' = S_n (1 - r) \\ 1 - r'' = S_n (1 - r) \\ S_o, & S_n = 1 - r'' \\ 1 - r \end{array}$$

## **THEOREM 9.6** Convergence of a Geometric Series

A geometric series with ratio r diverges if  $|r| \ge 1$ . If 0 < |r| < 1, then the series converges to the sum

$$\sum_{n=0}^{\infty} ar^n = \frac{a}{1-r}, \quad 0 < |r| < 1.$$

Proof: Ret 
$$S_{n} = \sum_{i=0}^{n-1} a_{i}^{i}$$
  

$$= a + ar + ar^{2} + \dots + ar^{n-2} + ar^{n-1}$$

$$= a \left( 1 + r + r^{2} + \dots + r^{n-2} + r^{n-1} \right)$$

$$S_{n} = a \left( 1 - r^{n} \right)$$

$$S_{n} = a \left( 1 - r^{n} \right)$$

$$C_{ase} = 1: \text{ If } 1r1 > 1, \text{ then } r^{n} > 00 \text{ as } n \Rightarrow 00$$

$$S_{0}, \text{ lim } S_{n} = 00$$

$$S_{0}, \text{ lim } S_{n} = 00$$

$$S_{n} = a + a + a + a + a + a - \dots + a + a,$$

$$n \text{ term}$$

	subaase $4$ $S_n = n \cdot \alpha$ , or	
	subcase 2 Su= a-a ta-ata-ata	
5 Juna 1	: lim Sn = lim ng	subcase 2: ling Sn does not
	n-700 u-700	1720 exist
	= 50	due to escillation
	Case 3: IF OXIVILI,	
	then $\lim r^n = 0$ , and	
	マッシ	20
	we have lim Sy = lim a (1-CM)	
	n-10 (1-1)	
	$= \frac{q}{l-r}$	
	we will use the result	
	through the vest of the chapter.	

**Ex. 4:** Find the sum:  $\sum_{n=0}^{\infty} 6 \left(\frac{4}{5}\right)^n =$ 

**Ex. 5:** Find the sum:  $\sum_{n=0}^{\infty} 6 \left(-\frac{4}{5}\right)^n =$ 

**Ex. 6:** Find the sum:  $0.\overline{9} = 0.9999...$ 

**Ex. 7:** Find the sum:  $0.0\overline{75} = 0.0757575...$ 

**Ex. 8: (a)** Find all values of *x* for which  $\sum_{n=0}^{\infty} 4 \left( \frac{x-3}{4} \right)^n$  converges.

(**b**) For these values of *x*, write the sum of the series.

## **THEOREM 9.7** Properties of Infinite Series

В

If  $\sum a_n = A$ ,  $\sum b_n = B$ , and c is a real number, then the following series converge to the indicated sums.

1. 
$$\sum_{n=1}^{\infty} ca_n = cA$$
  
2. 
$$\sum_{n=1}^{\infty} (a_n + b_n) = A + a$$

3. 
$$\sum_{n=1}^{\infty} (a_n - b_n) = A - B$$

Telescoping Series- "sometimes you get lucky"



A **telescoping series** is a special form that "collapses" like an old-fashioned telescope.

$$S = (b_1 - b_2) + (b_2 - b_3) + (b_3 - b_4) + (b_4 - b_5) + \dots$$

Since the "interior" terms cancel, we can consider the *n*th partial sum:

$$S_n = b_1 - b_{n+1}$$

If the series converges, we can use this *n*th partial sum to find the sum of the series by taking the limit:

$$S = b_1 - \lim_{n \to \infty} b_{n+1}$$

**Ex. 9:** Find the sum:  $\sum_{n=1}^{\infty} \frac{1}{n(n+2)}$ 

Ex. 9: Continued

Series convergence implies that the *n*th term tends to <u>zero</u>. Here are two theorems about this:

**THEOREM 9.8** Limit of *n*th Term of a Convergent Series  
If 
$$\sum_{n=1}^{\infty} a_n$$
 converges, then  $\lim_{n \to \infty} a_n = 0$ .

If 
$$\lim_{n \to \infty} a_n \neq 0$$
, then  $\sum_{n=1}^{\infty} a_n$  diverges.

**Ex. 10:** Find the sum:  $\sum_{n=0}^{\infty} (1.075)^n$ 

**Ex. 11:** Find the sum: 
$$\sum_{n=1}^{\infty} \frac{2^n}{100}$$

**Ex. 12:** Find the sum: 
$$\sum_{n=1}^{\infty} \frac{n+1}{2n-1}$$